
3T-6 

A, B T CtIAB, BC 
BCA, CAB A U }I 

1 

2. 

T CA HoTÝ 
A ¢ HTH 

FT ZABC, 
HI BC TeT 

fa 6.2 favi DEF , YuT rui 4 

146 

B 

C7M6C3 

fara 6.1 

F 

fara 6.2 

BC ¢ H4 I UT BACI 



3. 

A 

60 

B 

A 

(i) 

3c m 

B 

3 cm 

(ii) 

90° 

A 

faa 6.3 

17 

(ii) C 

B 

2 cm 

(iv) 

Cm 10 

(V) 

fara 6.4 

A 



uftoy qIEY, ( 6.6) | 

HHO10T = 180° 4: 21+22 + 23= 180° 9R 3H Apt AI0 Hb f 

B2 

fura 6.6 

AABC mZA= mZB= mZC= 
APQR mZP= mZQ= mZR= 
AXYZ mZX= 

Ayt srH yRO t fa, H0 AABC, APQR GRT AXYZ 

mZY= 

118 

3 

fua 6.7 

mZZ= 

faa 6.5 

mZA+mZB+mZC= 
mZP+mZQ+m/R= 
mZX+mZY+m= 



Z1, 22 TT Z3 1 ( 6.8) 

fAT 

i) 

1+22+Z3=180° 

() + () 

21= 25 

L2= 24 

GIERU-1. 

1+22 

1+ 22+ 3 = 

B 

180° 

yT ZA + 110 = 180° 

25+ 24 

|| BC TT AB Y fito T }I 3: yorR 

25+ L4+ 23 

YT ZA+ 75° +35° = 180 

| BC TT AC YA fryo gT 3T: ychlR 

2c BA 
fra 6.8 

alat T: ZA + ZB + 2C 180° 

fey g fau B = 75°, ZC = 35° T4 

3, 24, Z5 ya T g 

75° BOS 
ferr 6.9 35c 

YT ZA= 180° -110°= 70 



JCTERUj-2. 

ZA+ ZB + ZC = 180° 

’ ZA+ 90° + 60° = 180° (: ZB=90°) 

’ZA + 150° = 180° 

=ZA= 180° � 150° =30° 

341: ZA=30° 

6.2 IEI , 3T: frqg tuT 
faa 6.11 À faABC À BC HoT 0 

B fa 6.12 

120 

B 

A 

faz 6.11 

B 
fra 6.13 

B 

C 

60c faa 6.10 

D 
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TG mACD =m ZA+m B 

(i) (ii) 

B 

121 

B 

(i) 

A 

A 

B 
C 

fr 6.14 

(ii) 

C B60° 

fa 6.15 

60 

(ii) 

D 

60C 
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1. 

2. 

3. 

4. 

5. 

(i) 
Z 

faa 6.16 

faa 6.18 ö AB = AC RI ZABC = 65° �4 fa 

122 

600 

(ii) 

72° 

M 

faa 6.17 

A6so 

A 

B fa 6.18 



6.3 fu Hftar� 

i) 

(ü) 

B 

A 

D 

fea 6.19 

1 (fa 6.20) t A YGT BC �# 3E 

123 

B 

B 

B D 

fa 6.20 



rgrgs AL A YGT BC VR Slt 4T }I 

1 

2. 

3. 

4. 

faa 6.22 AD, BE RI CF a ABC¢ 

oHI B? 

124 

B 

L 

fer 6.21 

D 
faa6.22 

E 
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1. 

2. 

3. 

5. 

6. 

) 

(i) 

B 

() 

2y 

ZA= 

ZC= 

40° 

ygTTi 6.1 

125 

35° 
(ii) 

7. 
A 

ZA = 

ZB= 

2C = 

A50° 
(iii) 

140° 

40°^ 

faal 6.23 

4x 



8. 

B 

LA = 

11. 

B = 

(i) 

(ii) 

55° 

9. 

N00° 
B 

126 

(i) 

(iv) 

B 

10. 

85° 

ZA= 

130° 



12. 

13. 

14. 

15. 

(1) 
(i) 

6) 

? 

y qgT HHEAIE fa ABC 413Y, fH AB = AC BT| H ayT 

1. AABC 

2. APOR 

3. ADEF 

AB=AC 

PQ=PR 

DE=DF 

4. ALMNLM=MN=NL 

6.5 f>ryu 3fAOI TUT 

127 

B=50° 

R=... 

E=..... 
L=..... 

LC=...., ZA=..... 

ZP=....,. 2Q=45° 

D=84°, ZF=....... 

ZM=......, 2N=....... 



farg A R 

lag B qR 

IV 

fa B q 

JGTERUT: 

fag C q 

fag A qR 

AC +CB> AB 

BA + AC> BC 

CB + BA>CA 

AB AC + CB 

4EÍ AB, BC AT CA gH faR T yu | 
B 

AB 

fera 6.24 
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1. 

YgÍ 2c.m + 2c.m <6 c.m 

) 

(1) 

lcm., 3cm., 6cm. 

3cm., Scm., 8cm. 

6.6 Y1gTÌH YÀY 

HRT (Perpendicular) 8I IGI I 

(ü) 

128 

(iv) 

4cm., 8cm., 9cm. 

argretat 1000 5 yd oiddi AIdT UI f 2000 $ 

3cm., 4cm., 5cm. 

AD 
C 

3TETR 
fa 6.2S 

B 



b 

A 
C 

faa 6.26 
B 

fryu-1 

a'= b² + c? 

a 

C 

fayu-2 

130 

a 

C 

faa 6.27 

C 

C 

b 

fargu-3 

b 



1. 

|2. 

3. 

2. 

4 

(1) 

(ii) 

(üi) 

3 

Guf 
H14 (a) 

a2 

H19 (b) 

10, 

faa 6.28 

c6 

131 

(ii) 
5c 

b² + T 

ol a 
a² = b²+eH4 

b 
12 

(ii) 

a'= b² + e? 
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1. 

3. 

4. 

2. 

yc Rv uý 6 c.m, 8 c.m TeT 10 c.m ct¥l fÍRT ffr f II 

) 

5 

(i) (3,4, 5) 

(ü) 

A 

(ü) 

(ii) 

12 cm. 

) 

12 

13 

faa 6.29 Àofrg ABC + ¢R 

(ii) (2, 3, 4) 

AO+ OB <AB 

yg 6.2 

AO + 0C> AC 

BO + 0C =-BC 

(iii) (1, 2, 3) 

132 

B 

A 

6 

(i) 

(iv) 

5 

(iv) (1,3, 5) 

fa6.29 

cm. 



3. 

4. 

5. 

6. 

24 

13 

PQ + QR + RS + SP> PR + SQ 

( 

ABC Y# fayvi fHOI ZA HHCOTUTf& AB = 10 , AC= 24 ÎT. TA 

( 

26 

10 

15 

) 

) 

i) 

(iv) 

4 

3 

(v) 

6 

( 

( 

T33 

) 

4 

() 

40 
72 

faa 6.30 

6 

75 

(vi) 

10 

( 

21 

8 

) 

R 

) 

(im) 
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7. 

1. 

2. 

3. 

4 

5. 

6 

7. 

9. 

) 

X= 

12 

16 

134 

() 

6 

X= 

X 

15 

-y= 


